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(PART -1 sl .2 )
12 2. Write short answers to any SIX (6) questions : : @l e =i /‘; Lo VULV (6)i¢df 2
(i) Define singular and non-singular matrix. gy /}Jb st E st G
la+3 4 -3 4 . . | a 4 -3 4
@i |7 o bl b adn 01 |2 UEC
6 b-1] | 6 2 6 b-1| | 6

then find the value of a and b
(iii) Describe in brief the concept of radical and radicand. -!: g A2 Kl ,uw!()é Ao ()

(iv) Simplify : (x3)? = s 25 (i
(v) Find value of x : loggys 5 = % : é(:l”:a{d/ x (v)
(vi) Find value of x : logx = 0.0044 g Zi:()’”.:«xfg(x (vi)
(vii) Which laws of surds are ¢ ,?ngq__f.db&luf’}d'.fégi_/’/(?“m’g;_,/f(ﬁ,y&& (W)
used to multiply and divide surds?

(viii) Rationalize the denominator : —,_2—,7 : é—-b’g}b £y &/ (viii)
(ix) Factorize : 1—125x%° V33 1-125x3 - éd/; (ix)
12 3. Write short answers to any SIX (6) questions : o =Al2 /"f Z =iy (6)4’4:,Jf y

(i) FindL.C.M. 39x7y3z , 91x% 077 e f i @
(ii) Define linear equation and write down its ' -Ziif"' G/PE@;Q?GL =hlGnl G
standard form.
(i) Solve : Jx-3-7=0 D2 Gi)
(iv) Define coordinate plane. oy s et
(v) Draw the graph : y=3x y=3x 3 Zrtkdfj v)
(vi) What are you meant by S.A.A= S.A.A.? Se b ol Ve i f =i (W
(vii) Define scalene triangle. -’é;.gj/jgfaﬁ’*f/wmbzc; ()
(viii) Find the mid point : A(~4,9),B(-4,-3) sk Bl (Vi)
(ix) Define parallelogram. <2.(J/TJCML”J)IP (g
12 4. Write short answers to any SIX (6) questions : : ol o Y 4 /‘; Py (6)54:,_(5:( 4
6)) Where will be the centre of a circle “Kfubf//Kg/bLha.u J'},Lub( S @
passing through three non-collinear points?
(ii) Why 2cm , 3cm and 5 cm ?chﬂuf‘dﬁ/uy’y@{@wfﬁ &l 5cm ¢ 3em «2cm (o

cannot be the sides of a triangle? .
¢ DB s AB JBC=5cm s DE=2cm<«AE=32cm«AD=24cm J (i)

(ii) If AD=24cm , AE=32cm ,DE=2cm,BC=5cm , then find AB and DB?
A

(éJJJ/J ) B o ¢



8

| ),
4. (iv) Define proportion. ?c‘_:l/y/c_./li (¥ 4
-Kz_g,czww&li‘,nﬂr;?wg, Lol Ex st 17 5 x 8 ,;;wgygfcwaw.g @)
(v) Three sides of a triangle are measure 8 , x and 17 respectively. For what value of x
will it become base of a right angled triangle.

(vi) In aright angled triangle having angle A as 90° then : : » .26 A ,,uuﬁu"w,n;h;?m{f (vi)
C

A B
: 2 M —
(1) AB =....—..... ) e = BC —4B
7 - v . - - B f]ﬁ Lk
-Jn/.u,u’iu:4.qun/,u.w/u,-!J e wb S iz (ad

(vii) The areaofa parallelogram is equal to that of rectangle on the same base and having same altitude.

(viii) Construct A ABC, where : m A:—(.i =42c¢m,m AB = 52cm, ms B=45°: u,‘:ugg;_t,, A ABC (viii)
(ix) What do you mean by point of concurrency? Sl e JWIE (ix)

(PART-1I /3.2 )

Note : Attempt THREE questions in all. -c‘-dJU 9 / Jl)’c}g -&%guzz::,uwcf gf O
But question No.9 is Compulsory. )
A Pt JJP&U}JG[:A:P/{% (M D
) 5x-2y=-10 ’
matrix inverse method g e
(b) Solve the equation forreal x andy : : éd‘fufiy s x el (g
(2-31)(x+yi)=4+1i
6. (a) Use log tables to find the value of : : z«:!,»;iv_wfc,u d/J)A? (Z/L@ W 6
32709 x 11.239
1Y

-Z.{(}’”ufgd/[x——J 81 )c~--l P x=2+\/§/ﬁ (b

X X

5. (@) Solve the linear equation by the

[ s ] -
(b) If x =2+ +/3 ,then find the values of x—— and (x - lj
X X

7. (a) Factorize : 25x% —10x +1-3622 : gu’f" ) 7
(b) Simplify as rational expression : & A rda G (L)

x+1 x-1 4x 1 dx
x—1 x+1 x4 x =1

-3 w3
8. (a) Find the equation : x;— x7_ =1 &S e (0) 8

(b) Construct a AABC and draw : gyt@/éaww;u A4BC (o)

perpendicular bisector of their sides : .
m<ZB=60° mZA=30° mBC =29cm
9. Prove that the bisectors of the angles of -ugz.ﬁﬁﬁwcéug,uuﬁéw‘fféqe 4
a triangle are concurrent. OR .

L
Prove that the triangles _d/uﬁ/.;/'uf,},o;-un/j/.{,@/u,m,ﬁ@Lu?ufp‘ﬁif&fg&&

‘on equal bases and of equal altitudes are equal in area.
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